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1. BHTIFENBHEE.
@ x*+x—-12=0; ® x*-8x+12=0;
@ 2%+3x2+2x=0; @ 2x*+3=2x*—-1;
® 3x*=2x% ‘® 2x*+3=2x%+3,
2. BEHTIHARENMNBUES:
© x*-x-6<0s @ x*-x-202>0s
@ x2-2x<0; 2205 -
® x*+x>0; ® 2x*+3<2,

3. BRTHIES:
O A%ERx2-r-6<0 WEBKMHMES, BEMHN
®A.
@ H&Kex-3y=3LMMALRNES.
® A%HRNx>IMBHRE.
@ AER>-3IMEBKRE,
G FiEExt+3x= 0B IE.
® WYL y=x>+x-1 BT B WABHNEHE
D

= )

@ HEx*+y*=1AMRRIESE.



HZy=2x-3THMBARNES.,

4. Bmsad= K B={%¥E}, RANB,

(3]

O o0 N

11.

125

13.

14.

15.

. EMEAR= (X%} T={B¥} N={(BR¥,

RKRNJy RANs JAN; RONJNN,

. REE{x:x? - 3x—4<O} N {x:2* —x- 60},
OREEx, waix+ry=2}N{(x, ¥):3x+y=4},
. REE{(x, x+y=2N{(x, y):3x+3y=5},
. BMEEA={HHEY), B={XE¥),R= {5},

kAUB, AUR, ANB, RUB, RN B,

. HBEd={E%¥, 0}, B={Ha¥}. C=R,

skAUB, ANB, AUC, ANC, (ANB) UC,
(AUCYN B,

gml={‘FiruihE}l A={4¥E} B={FEkE}),

sk AnNB, A4, B, AUB, AU B, A UB, AN B,
emli={1, 2, 3, 4, 5, 8} A={1, 2, 3}
B={2, 3, 4, 5},

skA, B, ANB, AUB, AN B, 4 UB, ANB,
AUB, ANB, AUB, AN BUA4, (AN B) U4,
A B,

B4 ACB, ASC, B={1, 2, 3, 5},

c={0, 2, 4, 5} 3k 4, BNC, ANC, AlIB.
CHac{b, ¢}, ac{b, ¢, d, e},

KaFRaWEs.
RN AB] B R REXSRLR R
@® A={1, 2, 3, 4,0 }. B={2, 4, 6,8,cse0ee }s

@ A={0:0<0<99°}, B={y:0<y<1}s
® A={HE&L AB WK}, B={ELXCDLME}

2 —



@ Az{ly 37 59 7}\ B={2, 10, 26) 50’ 82}.

16. EH T RHEER.
(1) y=x*-4x+3, x€00, 3}
(2) y=2x+3, x€(-3, 2}
(8) y=3x x€(—o0, 0)

(1) y= {x x €0, o0)
x? X€E(—o0, 0]
1 xe€(-3, 2)
(8 y={0 X€C2, 3),
17. RT3 i 3 1 52 S
(1) y=jx3!

(2) y=v'3x-2+v 2x+2,

Vx+3
(8) y= =3 3
V2-x
(4) y= =
1
(5) y=v 4-2x + 3/ 3x-1 +}c+2'

18. SRF 5 R B M {E

(1) 4= (2) y=x2-2
(8) f(x)=2x2+3 x€C-2, 3);

(4) f=vx+d  (5) f(::):ﬁ_x;t_l,



X
1+x%°

(6) y=

19. EMEHFGA={n*, n€EN}, B={3n, n€ N},
RAEA(N B,

20. EmEH/A={n*+n, n€EN} B={2n, n€N},
JRiE AcB, N

21. BmEs y=x*-2x +2, (DEHEZR, (2)REHW
BEKEs (3)REGAHEHEK A LMK EE,

5 8 =

1. RTFHIEEME . .
(1) y=(x—-2)"2+(x+1)7%

(2) y= ERL

(8) y=———+(x+3)+ 3
v x|

_ 6

Y=gy

v x

(5) R

3

(6) y=vx>—2x+1+ 13

2 . RFHRBAER E X W RREE, IHFmUIEnR,



® y=2x+3 £ (—oc,0) by

@ y=:}—¢2‘ TE(9,00) b

@ y:Z—xz E(O,w)_}:J

@ y=x2-2x+3 FE(—00,0) b3

® y=-x° TE(—00,0) k

® y=-+2 (- 00,0) k.

. FIE T Y R B H AT B

@ y=-3x5 _ @ y=x3-x

@ y=x"+1 @ y=x+x*-x-x"1%

at -1 z -z

® y=Zipi* (@0 © y=""7
_ ettt —ge L

@ y= PR y=x--".

- SRIERASFF B2 U — A B R,
. RiE: —AFRE—MEHZ PR T EE.

. a b HFRRM, f() = R BAN
FORBEY, BAE (- c0,0) LRMEY, Kil,

O FE(0,00) LIEWER L.
. RT3 E BRSO

O y=2x¢+1 XEC1,4)s
a _ax-b

@ y= C.V—(Z,

@ y= x+1 xE [0, ©0);



@ y=3p
_x-2
©® y= 2x—3
® y=2|x| x €0, ©°)3
@ y=2x*+3 x€EL0, °°)3
y=vx-1 x €0, o3
_ 1 -
©) y_‘x72+‘1 x €0, ).
 REB ¥ = 5o PR LR ERE R,

. REH y=v*- IR EH.

. REH y=x2+1 x€(-o0, 0) LMEEE, il
REARBHER.

. KRBy = x*FE R R IX ) L R 3

. RiE, y=x3RFE(-o0, +o0) BIIHEH,

. RiE B fo=x+3x-4 (o0, -5 ) bR
WR .

M
i
1}

1. REBEXBE:

@ y= lg(z—x)’
viox—1

1

@ i=lg—"o=
I =¢1= %

—6 —



IT@®O00e ® e

y=10g0.7(VI+B-1)+ —g
y=,\/log_;:(\/x—3—2)’
y=log3(4'—16)l
yzlogzx/_x—+10gz\/_5-—n
y=lglg(2x? - 3x+1)3
y=\/10ga(3—;v’).
H.

@ 1g52+§1g8+1g5-1g20+lg22;

@ logys -1 (3+2v/2);

® lg4+2lg5-1logs(logs3) +log,5-logs4s

@ (lg5)2+1g2-1g50;

® lg(vV3+v5s +V3-v5 ),

5- Eﬁﬂlog‘”9=a, 188=5, *10,%’3345,
4. Balg6=a, logl08 =5, 3Rlog5.4,

R 1 1 2
& b2= > ¥ + =
#Hb? =ac Kik.: e T e (x31) ,

& oa, by, c MIR—EKXESIA 2, ¢ 1y

;RH‘E Q@3- Tehr-PecP-a = 1

. RiE: dg5)%+1g2=(lg2)* +1g5,
. jkiﬂ:.: log_x N= "‘lOg',,N.

. #5F=2v=V10° xyzx0,

R, L"’l:E.'
x y =z



X

el =
. %f(x)—lng

, CLRIE: f(@ +fty =f(-220),

(2) RiE f(x) k3R,
lo:bl\
T G

. BRXF I HTR.

@ 3% 1-9s =18y

@ 5l-z—7z-1,

® 4:2%7-9-22"2+80=0;

@ greti=pgetlyg

. BET xR,

@ 2lgx+lg2=lg(x+6);

@ log e-sz(x—2) =10232\/§‘)
® 10g(z-1)2(x+1)+2108 (4-1)v % =25
@

®

281575127 = 16005
5:c+5a:+l+5:c+2=3:1:+ 3a:+l +3w+2’

. RTEA,
log,(x+y) —log,(x—y) =1,
@ {2‘”2"’2 =43

{log,u (x—y) =13

log.v (x+y) =0,

. BT xR

(1) x2lg.z-:10x’ . (2) 62x+4:38121+8,
(8) 10" 2 +x'57 =20, (4) 4%+6%=97%
(5) x\l;:\/;{r; ;

(6) In(1-2x)* -In(3-x)% =6,

8 —
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. Birsds A=-{1, 2, 3}, B={3, 4, 5},

C={2. 4. 6}, R (ANBYUMANOC) AN(BUO),
. Bl A={2n n€J}, B={3n, n€l},
C='¢n, n€l},

& 4B, ANB, AUC, BNC, 4, B, C,

. EH5A={2n, n€X}, B={n?, n€X},
C={2n-1, n€X}, D={n(n+1)n€X},
X={-1,0,1,2,3), &% I={n, -2<n<12, n€]},
® AYB, AUC, ANB, (AUB)UC, (ANBYND,
(AUC)ND, (ANB)UD, 4, B, AUB, AND,.
. JT i B e

® AUBNC=(ANCYUBNOC)s

@ ANB =4 UB,

. BHEEE M={x|x|<5, x€]},
MB—FMTEERTIES.

1 A={x.x=2y, yEM}

@ B={t;t=x+y, yEM, xEM},

. BakEs I={1, 2, 3, 4, 5, 6, 7} MIFHEHA,B,
ANB={1, 2}, ANB={4, 7}, ANB ={3},"

% AUB, B, A,

. HEABEA={x:x*—4<0}, B={x:2x-1>0}, xE€R,
£ 4AnB, 4, AN B, AUB.

. BERER, RIOAPHFIOARFERRESR 8 ABER
Rk, HONMFYEERE, RARKERREHIL

_— g —



10.

11.

12.

13.

14.

15.

16.

17.
18.

Ar RUBAREILA? BFDEBARKAEILA?

A A= {x;x+122 1), B={x;x2+1>2x} x€R,

Kk AUB, ANB, 4, B,

SaELS A={x.x*-x-2>0}, B={x:4x+p<0},
H BCA, RELEPHATLEKMES.
A={x;x*-x-2>0}, B={x.x*+4x+p<0}, BCA4,
REBPHELKIES.

3R of B SE SCIR:

D flx)=183%,

x4 =
2

@ fx) =loga(27-95) (a>0, a%1) ,
HH:
® B log:9=a, log,5=b, R g2, 1g3, lgs;
@ logs2=a, logs11=>b, 3K log,,88;

1
@ log,,27=a, 3K logel6,
g f(x) =a®, g(x) =log.x,

RiEs f(-0-f0 =1 @ -gx+D=g (7 ).

* 10g4(xs _x_s)’

REEY v=" 12 IMERAT S, FATL

x2+1
RiE f(x) =loga(x++v/ x2+1) (a>0) HAERHK.
og,zi-83z- % o
REHy=2""""""""" WAARE.
BAER, @ log,(1-x)+log,(x+4)<2
@ lg2x+1)>lg(5-x),



19. iEBH: @ logsd-log 5-logs6eee-logsd =23

@ -log, 1022\/\/\/:'\/%=m

® (log,3+1log.3)(log,2 +log,2)
-log,¢/32=0
@ log®2+log®s5+3lg2lgs =1,
20. MR,
@D 3+25%+5+9%7=8+15%
_ lgox _,
lg(4x - 15)
2% 4+ 271 4 27t 2 = g7 4 G2V 1y
lg(27+2x-16) =x(1 - 1g5)s
‘/mlogsx= -1
(21 =0.0001

v+ log .v/27+logsx+ 1 =03

®90@eMe ©®

(Igx)'s7 =x,
21, a>0, >0, u=ar* V=ary w=ar?,

RiE: (y—2)logru+ (z—x)logyV + (x —y)log,w=0,
(>0, bx1) ,

22, ANERY, AVOR120 LK, AME L HES
%2

-_1] -



